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Part 8: Impulse, Momentum, and Center of Mass

College Physics (Openstax): Chapter 8
Physics (Giancoli): Chapter 7

Impacts and Impulse

e Collisions generally occur over a short time interval.
e When two objects collide, the surfaces will deform (surfaces compress).

e These surfaces act like springs (albeit with large spring constants). The greater the compression,
the greater the force. This allows the contact forces (equivalent to normal forces) to slow the
colliding objects and redirect them.

e Some of the collision energy may be released as heat (warming the colliding objects) and sound.
Other energy might be consumed in permanently deforming one or both of the objects. As these
energies are difficult to account for, conservation of energy can only be used special cases.

Maximum
Force Compression
Impulse (J)
Compression Decompression
Favg - I
Contact Contact
Begins Exnds
At Time
= - -
o Impulse (J): J= Fgyy-At

J= ﬁavg ‘At = mdg,, - At = mAV = mv, —mv,;
e Momentum (P): P =mb
e The impulse delivered to an object is equal to that object’s change in momentum.
J= ﬁavg ‘At = mb, — mi, = AP

- = Aﬁ
* Whichalso means:  Fopg = —

Example: A golf ball (mp = 45.0 g) starts at rest on a tee. After the golfer strikes it, it is moving at
38.0 m/s. During impact, the club remains in contact with the ball for 3.00 ms. A) What is the change
in momentum of the ball? B) Determine the average force applied to the ball by the club.

A) AP = Pringr — Prnie =mv —mvg = m(v —v,) = (0.0450 kg) (3802 - 0%) = 1.71kg - =

AP 171 kg™

B) Favg = At 300x10-3s 570 N
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General Collision

x: V]/v Objectl: [, = F,-At= AP, = mp| — md,
% (T8 Object2:  J, = F,+At = AP, = miby — mi,
Collision
K jl"‘jz=ﬁ1'At+ﬁ2'At=(ﬁ1+ﬁ2)-At=O
% /Vz' uv\ 1_3)1 + 1_7)2 = 0, because Newton’s 3" law says F)z = —F)l
2

j1 + jz = (mv; —mv;) + (mvy; — mv,)
> > N N N N - -
Ji+ 2 = (mvy + mvy) — (mVy + mV,) = Prinat — Prnie
- - - -
Ppinai — Pt = 0 Prinai = Prnit

Momentum is conserved!

...As long as no external forces provide outside impulse.

Example: A defensive lineman (mpL = 138 kg) is moving at 8.00 m/s when he tackles a stationary
quarterback (mgs = 110 kg). A) What is the velocity of the pair after the collision? B) If the collision
takes 0.200 s, what is the average force delivered to the quarterback?

mpve _ (138Kkg)(8.007)

m
A) Prinar = Ppit (mos + mpL)v = mpv v = mop+mp, (110 kg+138kg) 4455
- (110 kg)(4.45= )
B) Fag = AZfB = mQAB: L (020(0 S 2 _ 2.45kN  (approximately 550 Ibs of force)

m m
APgg = mopv = (110 kg) (445 ?) =490 kg —

m m m
APy, = mpv — Mmp Vo = Mp, (v — 1) = (138 kg) (4.45?— 8.00 ?) = —490 kg - —

The momentum lost by the defensive lineman is transferred to the quarterback

Enerqgy and Momentum in Collisions

e Momentum is conserved in collisions when no net outside forces are present.
e Gravity is typically negligible as it has almost no effect over such a short time interval.

e Energy may or may not be conserved in collisions. For example, energy might be released as
heat (lost).

e Three types of collisions:

e In Elastic Collisions, both energy and momentum are conserved.

¢ In Inelastic Collisions, momentum is conserved, but energy is not.

e In Completely Inelastic Collisions, momentum is conserved, but the maximum possible
energy is lost as the objects stick together.
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© ¢

. . Completely
Elastic Inelastic Inelastic

Example: A curler slides a 20.0 kg stone across the ice surface. The stone is moving at 0.750 m/s when
it collides head-on with a second, stationary 20.0 kg curling stone. If this is an elastic collision,

determine the velocity of both stones after they strike.

Note: The term ‘head on’ indicates that the center of mass of both objects is in line with
the velocity. In other words, this is a 1-dimensional problem. Vectors can be ignored.

Before Collision After Collision
VO v] V2
=0 —-— i
Conservation of momentum: Pinit = Prina mivy = muv; + myv,

. 1 1 1
Conservation of energy:  Einir = Erinal ;mlvg = ;mﬂ?f + Emzvz2 mvi = myv? + myvi

Here’s a mathematical trick that helps with elastic collisions:

Rearrange momentum equation: m,(vg — v;) = m,v,

Rearrange and factor energy equation: — my(v3 — v) = myv:  my(wy — v) (W + 1) = MV

mq(wo—v1) (Wo+v1) myv2
1(o—v)Wo+vy) _ myv3 Vo + v, = v,

Divide equations: =
m1(vo— v1) mav;

Multiply by m: and add the rearranged momentum equation:

2mq v
my(vo +v1) + my(wy —vy) = my(vy) + my(vy) 2myvy = (my + my)v, Uy = m
v = po— = 2my v, _ (my + my)v, . (m; —my)v,
! 2 0 (my +my) (my +my) (my + my)

As m1 = mg in this case... vV, = vy = 0.75? and v, =0
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Ballistic Pendulum

e The ballistic pendulum is used to measure

the velocity of projectiles (such as bullet).
Moments

Later o First, the projectile makes a completely
inelastic collision with the much heavier
hanging mass of a pendulum bob.

; e The velocity of the pair after the collision
- - —V— Ih causes the pendulum bob to swing
upwards, and the height is measured.
Before After From this height we can produce the
Collision Collision velocity of the projectile.

e To start we need to relate the ‘Moments Later’ image to the ‘After Collision’ image.

e Can we use conservation of momentum? No, an external force (gravity) acts on the
system. Momentum is not conserved.

e There is no collision in this interval. Energy is conserved.

Emmit = Erinal %("H'M)VZ = (m+ M)gh v?=2gh v=.2gh

e Next we need to relate the ‘After Collision” image to the ‘Before Collision’ image.
e Can we use conservation of energy? No, a collision occurs. Energy is not conserved.
e There are no (horizontal) external forces in this interval. Momentum is conserved.

Prit = Prin~ mvo = (m+ M)v Vo = (1+%)17= (1+%)\/m

Collisions in Two Dimensions

e Conservation of momentum is applied by components for each axis of motion.
Pfinal = P implies Pfinal—x = Pinit-x and Pfinal—y = Linit-y

¢ Intwo dimensions, conservation of motion gives two equations, allowing you to find two
unknowns.

Example: The cue ball approaches a stationary ball of equal mass at 3.00 m/s. After the collision the
balls separate, the velocity of each ball making a 45.0° angle with the cue ball’s original path just on
opposite sides. Determine the velocity of both balls after the collision.
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Y-Components: Prinai—y = Pinit—y mpVg Sin 0 — myv,sinfy, =0
MmpVg Sin g = Mmyv, Sin G, Vg = Uy
Y-Components: Prinai-x = Pinit-x mgvg cos O + myv, cos B, = myv,
vp cos 45° + v, cos 45° = v, V4 €0S 45° + v, cos45° = v,
m
Vo o

= 2 =2121322 vy = v, =220

2v, cos45° = v, vy =
A 0 A 2 coSs 45° 2 Ccos 45°

Is this an elastic or inelastic collision?

1 1 my 2 m?
Einit = Emvo =§m(300?) = [ 4.50 S_Z m

T, 1 2 my? m?
Efinat = 5mv} + zmvf = mof = m (212132—) = (450 — |m

So it’s elastic.

Example: A car (mcar = 1300 kg) is heading north at 20.0 m/s when it collides with a truck (Miuck =
2000 kg) heading east at 15.0 m/s. During the collision the bumpers lock, holding the car and truck
together. Determine the velocity of the pair after the collision.

m
Prinal Prinal-x = MrruckVrruck = (2000 kg) (15-0 ?)
PFin:lI-\' m
! = 30,000 kg - —
eeesssmn--  EE——-

m
Prruc Prinatx Prinai-y = McarVear = (1300 kg) (20-0 ?)
= My Vrruek

m
=26,000kg - —

5 5 my2 my 2 m
Prinai = JPFinal_x + Py = (30,000 kg -?) + (26,000 kg -?) = 39,699 kg ' —

m
m (2000 kg + 1300 kg) s

UFinal =
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Center of Mass

e The dynamics of any object are equivalent to having the entire mass at a single point, the center
of mass.

e This allows us to treat every object as a point with mass.

e Asthis is also true for gravity, the center of mass is also called the center of gravity.
e The Center of Mass of an object is the mean (average) position of its mass.
e For scattered point masses:

n n
x _ MyXq+MpXp+ Maxz+er Yo Myx; y _ myy +tmpyp+tmayz+e Yl mpy
M M+ My+ Mg+ S m; M M+ Mo+ Mg+ Smam;

Example: Find the center of mass.

y I myx; + MyxX, + MaXz +MyX,

:j l'ﬂ.kg o m;+ my, + my+m,
2.0 kg

" . _ (40kg)(2.0m) + (3.0 kg)(6.0m) + (2.0 kg)(7.0 m) + (1.0 kg)(10.0m) _ 50

. Xom = 40kg+3.0kg +20kg + 1.0 kg =>om
,

: 4.0.kg _ miy; + myy, + mzy; + myy,
4 3.0kg Yem m; + my, + mg+m,
s °
2 _ (40 kg)(5.0m)+ (3.0kg)(3.0m) + (2.0 kg)(10.0 m) + (1.0 kg)(11.0m) 6.0

' Yem = 40kg +3.0kg +20kg + 1.0 kg =oum

X

1 2 3 4 5 6 7 8 9 10 11 12

e The center of mass of a system of particles of net mass M, moves like a particle of net mass M.
When subject to the next external forces it accelerates according to Fnet = Ma.

_ Axey  Almyxy + myx; + maxz + o)

M, _
' v = =

cM Collision _ A(mlxl) + A(mzxz) + A(7n3x3) + -
— Pon. = st
M m,Ax; m,Ax, m;Ax
: 7 e g o Mabn mp AT msAv
Q¢ Vv vy M At M At M At
mv; myv, M3 mv; m,U, mav,
ﬁcm_lb1+22+33+“= 11+22+33+
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